

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math
(): © TÜBİTAK
doi:10.3906/mat-2203-82

Research Article

On sharpening and generalization of Rivlin's inequality

Prasanna KUMAR¹, Gradimir V. MILOVANOVIĆ^{2,3,*}

¹Department of Mathematics, Birla Institute of Technology and Science Pilani, K K Birla Goa Campus, Goa, India

²Serbian Academy of Sciences and Arts, Beograd, Serbia

³University of Niš, Faculty of Sciences and Mathematics, 18000 Niš, Serbia

Received: 13.03.2022 • Accepted/Published Online: 30.03.2022 • Final Version: ..2022

Abstract: An inequality due to T. J. Rivlin from 1960 states that if P(z) is a polynomial of degree n having no zeros in |z| < 1, then

$$\max_{|z|=r}|P(z)|\geq \left(\frac{1+r}{2}\right)^n\max_{|z|=1}|P(z)|$$

for $0 \le r \le 1$. In this paper, we prove some generalizations of the above Rivlin's inequality which sharpens Rivlin's inequality as a special case. Some important consequences of these results are also discussed and some related inequalities are obtained.

Key words: Polynomials, zeros, inequalities

1. Introduction

If P(z) is a polynomial of degree n, then the well-known Bernstein inequalities [2] on polynomials are given by

$$\max_{|z|=1} |P'(z)| \le n \max_{|z|=1} |P(z)| \tag{1.1}$$

and

$$\max_{|z|=R} |P(z)| \le R^n \max_{|z|=1} |P(z)|, \tag{1.2}$$

whenever $R \geq 1$.

The inequality (1.1) is a direct consequence of Bernstein's theorem on the derivative of a trigonometric polynomial [9], and the inequality (1.2) follows from the maximum modulus theorem (see [7, Problem 269]). The reverse analogue of the inequality (1.2) whenever $R \leq 1$ is given by Varga [10], and he proved that, if P(z) is a polynomial of degree n, then

$$\max_{|z|=r} |P(z)| \ge r^n \max_{|z|=1} |P(z)|, \tag{1.3}$$

whenever $0 \le r \le 1$. The equality in (1.3) holds whenever $P(z) = az^n$. For the class of polynomials having no zeros inside the unit circle, it was Rivlin [8] who proved that, if P(z) is a polynomial of degree n having no

^{*}Correspondence: gvm@mi.sanu.ac.rs 2010 AMS Mathematics Subject Classification: 30A10



zeros in |z| < 1, then for $0 \le r \le 1$

$$\max_{|z|=r} |P(z)| \ge \left(\frac{1+r}{2}\right)^n \max_{|z|=1} |P(z)|. \tag{1.4}$$

Equality holds in (1.4) if $P(z) = (z+a)^n$ whenever |a| = 1.

For more information about this kind of inequalities, we refer to the monographs [3, 6].

Aziz [1] generalized the Rivlin's inequality (1.4) by proving that, if P(z) has no zeros in $|z| < K, K \ge 1$, then

$$\max_{|z|=r} |P(z)| \ge \left(\frac{K+r}{K+1}\right)^n \max_{|z|=1} |P(z)|,\tag{1.5}$$

for $0 \le r \le 1$. Although, the above inequality (1.5) is best possible with equality holding for polynomials $P(z) = (z+a)^n$ satisfying |a| = K, definitely the bound given in inequality (1.5) does not address the issue of how far the zeros lie outside the circle |z| = K. Now naturally a question arises; is there any way to refine the inequality (1.5) for the class of polynomials satisfying the hypotheses of the inequality (1.5), by capturing some information on the moduli of zeros? Can we obtain a bound via two extreme coefficients of P(z) which are informative about the distance of zeros from the origin? In view of the example for the equality case in (1.5) which holds with the property $|a_0|/|a_n| = K^n$, it should be possible to improve upon the bound for polynomials $P(z) = \sum_{\nu=0}^n a_\nu z^\nu$ having no zeros in |z| < K, $K \ge 1$, satisfying $|a_0|/|a_n| \ne K^n$.

In this paper, we approach this side of the inequality and obtain a bound which sharpens the inequalities (1.5) and (1.4) significantly.

2. Main results

Theorem 2.1 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has no zeros in |z| < K, $K \ge 1$, then

$$\max_{|z|=r} |P(z)| \ge \left\{ \left(\frac{K+r}{K+1} \right)^n + \frac{1}{K^{n-1}} \left[\frac{|a_0| - |a_n| K^n}{|a_0| + |a_n|} \right] \left(\frac{1-r}{K+1} \right)^n \right\} \max_{|z|=1} |P(z)|, \tag{2.1}$$

for $0 \le r \le 1$. The result is sharp and equality holds in (2.1) if $P(z) = (z + K)^n$ and also for P(z) = z + a for any a with $|a| \ge K$.

When K = 1, Theorem 2.1 reduces to the following sharpened form of Rivlin's inequality (1.4), which was independently proved recently by Kumar [5].

Corollary 2.2 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ is a polynomial of degree n, having no zeros in |z| < 1, then

$$\max_{|z|=r} |P(z)| \ge \left\{ \left(\frac{1+r}{2} \right)^n + \left[\frac{|a_0| - |a_n|}{|a_0| + |a_n|} \right] \left(\frac{1-r}{2} \right)^n \right\} \max_{|z|=1} |P(z)|, \tag{2.2}$$

whenever $0 \le r \le 1$. Equality holds in (2.2) if $P(z) = (z+a)^n$ whenever |a| = 1 and also for P(z) = z+a for any a with $|a| \ge 1$.

Since $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has all its zeros in $|z| \geq K$, we always have the situation

$$\frac{|a_0| - |a_n|K^n}{|a_0| + |a_n|} \ge 0.$$

Therefore, for all polynomials satisfying the hypotheses of Theorem 2.1 excepting those satisfying $|a_0| = |a_n|K^n$, our above inequality (2.1) sharpens the inequality (1.5).

As a consequence of Theorem 2.1, we obtain a result on the location of zeros of a polynomial in a disc as discussed below. We have

$$|P(0)| = |a_0| \ge \left\{ \left(\frac{K}{K+1} \right)^n + \frac{1}{K^{n-1}} \left[\frac{|a_0| - |a_n| K^n}{|a_0| + |a_n|} \right] \left(\frac{1}{K+1} \right)^n \right\} \max_{|z| = 1} |P(z)|,$$

or equivalently

$$\frac{|a_0|(|a_0| + |a_n|)K^{n-1}}{K^{2n-1}(|a_0| + |a_n|) + |a_0| - |a_n|K^n} \ge \frac{1}{(K+1)^n} \max_{|z|=1} |P(z)|, \tag{2.3}$$

whenever $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has no zeros in $|z| < K, K \ge 1$.

Now let m with $m \le 1$ be the absolute value of a zero of smallest absolute value of P(z). Also let $Q(z) = P(m^2 z)$. Then Q(z) has no zeros in |z| < 1/m such that $1/m \ge 1$, and hence from (2.3) it follows that

$$\frac{|a_0|(|a_0|+|a_n|m^{2n})}{|a_0|+|a_n|m^{2n}+(|a_0|m^n-|a_n|)m^{n-1}} \ge \frac{1}{(m+1)^n} \max_{|z|=1} |Q(z)|,$$

or equivalently

$$\frac{|a_0|(|a_0|+|a_n|m^{2n})}{|a_0|+|a_n|m^{2n}+(|a_0|m^n-|a_n|)m^{n-1}} \ge \frac{1}{(m+1)^n} \max_{|z|=m^2} |P(z)|.$$

Therefore, we arrived at the following result.

Corollary 2.3 Let $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ be a polynomial of degree n. If

$$\max_{|z|=R^2} |P(z)| > \frac{|a_0|(|a_0|+|a_n|R^{2n})(R+1)^n}{|a_0|+|a_n|R^{2n}+(|a_0|R^n-|a_n|)R^{n-1}},$$

for some $1 \ge R > 0$, then P(z) has at least one zero in |z| < R.

By applying Theorem 2.1 to the reciprocal polynomial $z^n P(1/z)$ we get an inequality for the class of polynomials having all its zeros in $|z| \leq K$, $K \leq 1$. To elaborate it, if $P(z) = \sum_{\nu=0}^n a_{\nu} z^{\nu}$ has all its zeros in $|z| \leq K$, $K \leq 1$, then $Q(z) = z^n P(1/z)$ has no zeros in |z| < 1/K, $1/K \geq 1$. Applying Theorem 2.1 to Q(z) with r = 1/R, $R \geq 1$, we get

$$\max_{|z|=1/R} |Q(z)| \geq \left(\frac{1/K+1/R}{1/K+1}\right)^n + K^{n-1} \left[\frac{|a_n|-|a_0|/K^n}{|a_0|+|a_n|}\right] \left(\frac{1-1/R}{1/K+1}\right)^n,$$

or equivalently

$$\frac{1}{R^n} \max_{|z|=R} |P(z)| \ge \left(\frac{1/K + 1/R}{1/K + 1}\right)^n + K^{n-1} \left[\frac{|a_n| - |a_0|/K^n}{|a_0| + |a_n|}\right] \left(\frac{1 - 1/R}{1/K + 1}\right)^n.$$

With the simplification of the above, we arrive at the following result.

Corollary 2.4 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has all its zeros in $|z| \leq K$, $K \leq 1$, then

$$\max_{|z|=R} |P(z)| \ge \left\{ \left(\frac{K+R}{K+1} \right)^n + K^{n-1} \left[\frac{|a_n|K^n - |a_0|}{|a_n| + |a_0|} \right] \left(\frac{R-1}{K+1} \right)^n \right\} \max_{|z|=1} |P(z)|, \tag{2.4}$$

whenever $R \ge 1$. The result is best possible and equality holds in (2.4) if $P(z) = (z + K)^n$ and also for P(z) = z + a for any a with $|a| \le K$.

Aziz [1] also derived an inequality that, if P(z) is a polynomial of degree n having no zeros in |z| < K, $K \le 1$, then

$$\max_{|z|=r} |P(z)| \ge \left(\frac{K+r}{K+1}\right)^n \max_{|z|=1} |P(z)|,\tag{2.5}$$

whenever $0 < r \le K^2$. We shall sharpen the inequality (2.5) in the following result.

Theorem 2.5 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ is a polynomial of degree n having no zeros in $|z| < K, K \le 1$, then

$$\max_{|z|=r} |P(z)| \ge \left\{ \left(\frac{K+r}{K+1} \right)^n + \left[\frac{|a_0| - |a_n|K^n}{|a_0| + |a_n|} \right] \left(\frac{\lambda}{K+1} \right)^n \right\} \max_{|z|=1} |P(z)|, \tag{2.6}$$

whenever $0 < r \le K^2$, and $\lambda = \min\{1 - r, K + r\}$. Equality holds in (2.6) if $P(z) = (z + K)^n$ and also for P(z) = z + a for any a with $|a| \ge K$.

We can apply Theorem 2.5 to the reciprocal polynomial $z^n P(1/z)$ and proceeding in the lines of the proof of Corollary 2.4 as explained above to get the following immediate consequence of Theorem 2.5.

Corollary 2.6 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ is a polynomial of degree n which has all its zeros in the disc $|z| \leq K$, $K \geq 1$, then

$$\max_{|z|=R} |P(z)| \ge \left\{ \left(\frac{K+R}{K+1} \right)^n + \left[\frac{|a_n|K^n - |a_0|}{|a_0| + |a_n|} \right] \left(\frac{\mu}{K+1} \right)^n \right\} \max_{|z|=1} |P(z)|, \tag{2.7}$$

whenever $R \ge K^2$ and $\mu = \min\{R - 1, (R + K)/K\}$. The result is best possible and equality holds in (2.7) if $P(z) = (z + K)^n$ and also for P(z) = z + a for any a with $|a| \le K$.

It was Govil [4] who generalized the inequality (1.4) by studying the relative growth of a polynomial P(z) having no zeros in the open unit disc, with respect to two circles |z|=r and |z|=R whenever $0 \le r < R \le 1$. He proved that, if P(z) has no zeros in |z|<1 then for $0 \le r < R \le 1$

$$\max_{|z|=r} |P(z)| \ge \left(\frac{1+r}{1+R}\right)^n \max_{|z|=R} |P(z)|. \tag{2.8}$$

Our next result sharpens (2.8) and is stated below.

Theorem 2.7 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has no zeros in |z| < 1 then for $0 \le r < R \le 1$, we have

$$\max_{|z|=r} |P(z)| \ge \left\{ \left(\frac{1+r}{1+R} \right)^n + R^{n-1} \left[\frac{|a_0| - |a_n|}{|a_0| + |a_n| R^n} \right] \left(\frac{R-r}{1+R} \right)^n \right\} \max_{|z|=R} |P(z)|, \tag{2.9}$$

The result is best possible and equality holds in (2.9) for $P(z) = (z+a)^n$, where |a| = 1, and P(z) = z+a, where $|a| \ge 1$.

It may be remarked that when R = 1, Theorem 2.7 gives the sharpened version of Rivlin's inequality stated in Corollary 2.2.

If the polynomial P(z) has all its zeros on $|z| \le 1$, then the reciprocal polynomial $Q(z) = z^n P(1/z)$ also has all its zeros in $|z| \ge 1$. Now if $1 \le R < r$, then $1/r < 1/R \le 1$. Therefore applying Theorem 2.7 to the polynomial Q(z) we get

$$\max_{|z|=1/r}|Q(z)| \geq \left\{ \left(\frac{1+1/r}{1+1/R}\right)^n + 1/R^{n-1} \left[\frac{|a_n|-|a_0|}{|a_n|+|a_0|(1/R^n)}\right] \left(\frac{1/R-1/r}{1+1/R}\right)^n \right\} \max_{|z|=1/R} |Q(z)|,$$

which with simplification yields

$$\frac{1}{r^n} \max_{|z|=r} |P(z)| \ge \left\{ \frac{R^n}{r^n} \left(\frac{r+1}{R+1} \right)^n + \frac{R}{r^n} \left[\frac{|a_n| - |a_0|}{R^n |a_n| + |a_0|} \right] \left(\frac{r-R}{R+1} \right)^n \right\} \frac{1}{R^n} \max_{|z|=R} |P(z)|,$$

Thus we arrived at the following result.

Corollary 2.8 If $P(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ has all its zeros on $|z| \le 1$ then for $1 \le R < r$, we have

$$\max_{|z|=r} |P(z)| \ge \left\{ \left(\frac{1+r}{1+R} \right)^n + \frac{1}{R^{n-1}} \left[\frac{|a_n| - |a_0|}{|a_0| + |a_n| R^n} \right] \left(\frac{r-R}{1+R} \right)^n \right\} \max_{|z|=R} |P(z)|. \tag{2.10}$$

The result is best possible and equality holds in (2.10) for $P(z) = (z+a)^n$, where |a| = 1, and P(z) = z+a, where $|a| \ge 1$.

Remark 2.9 The above Corollary 2.8 sharpens the Corollary to Theorem 1 given in the paper due to Govil [4].

3. Auxiliary results

In order to establish our results stated in the previous section, we need to prove some fundamental inequalities involving nonnegative real numbers.

Lemma 3.1 If $a \ge K^m$, $b \ge K$, $K \ge 1$, and m is any positive integer, then

$$\frac{1}{K^{m-1}} \frac{a - K^m}{a+1} \cdot \frac{b - K}{b+1} + \frac{1}{K^{m-1}} \frac{a - K^m}{a+1} + \frac{b - K}{b+1} \ge \frac{1}{K^m} \frac{ab - K^{m+1}}{(ab+1)}. \tag{3.1}$$

Proof We need to show

$$\frac{1}{K^{m-1}}\frac{a-K^m}{a+1}\cdot\frac{b-K}{b+1}+\frac{1}{K^{m-1}}\frac{a-K^m}{a+1}+\frac{b-K}{b+1}-\frac{1}{K^m}\frac{ab-K^{m+1}}{(ab+1)}\geq 0.$$

Equivalently, it suffices to show that

$$K(ab+1)(a-K^m)(b-K) + K(ab+1)(a-K^m)(b+1)$$

$$+ K^m(b-K)(ab+1)(a+1)$$

$$- (ab-K^{m+1})(a+1)(b+1) \ge 0.$$

In view of the fact that $K \ge 1$, and (a+1)(b+1) = ab+1+a+b, to establish the above claim, we need to prove

$$(ab+1)(a-K^m)(b-K) + K(ab+1)(a-K^m)(b+1)$$

$$+ K^m(b-K)(ab+1)(a+1) - (ab-K^{m+1})(ab+1)$$

$$- (ab-K^{m+1})(a+b) \ge 0.$$

$$(3.2)$$

Substituting the following

$$(ab+1)(a-K^m)(b-K) - (ab-K^{m+1})(ab+1)$$
$$= -(ab+1)(K(a-K^m) + K^m(b-K)),$$

$$K(ab+1)(a-K^m)(b+1) = Kb(ab+1)(a-K^m) + K(ab+1)(a-K^m),$$

and

$$K^{m}(b-K)(ab+1)(a+1) = K^{m}a(b-K)(ab+1) + K^{m}(b-K)(ab+1)$$

in (3.2) and simplifying, we will be finally left to show that

$$Kb(ab+1)(a-K^m) + K^m a(b-K)(ab+1) - (ab-K^{m+1})(a+b) \ge 0.$$

Since for $a \ge 1$, $b \ge 1$, the inequality $(ab+1) \ge (a+b)$ holds, so it is sufficient to prove that

$$Kb(a - K^m) + K^m a(b - K) - (ab - K^{m+1}) \ge 0.$$

But

$$Kb(a - K^m) + K^m a(b - K) - (ab - K^{m+1})$$

= $(K - 1)(a - K^m)(b - 1) + K^m(a - 1)(b - 1) + (K - 1)a \ge 0$,

and hence the proof is complete.

When K > 0 we have the following result analogous to Lemma 3.1.

Lemma 3.2 If $a \ge K^m$, $b \ge K$, K > 0, and m is any positive integer, then

$$\frac{a - K^m}{a + K^m} \cdot \frac{b - K}{b + K} + \frac{a - K^m}{a + K^m} + \frac{b - K}{b + K} \ge \frac{ab - K^{m+1}}{ab + K^{m+1}}.$$
 (3.3)

Proof The proof is almost in line with that of Lemma 3.1, but needs some modifications and records slightly different observations. For the sake of completeness let us present the proof.

Our claim is

$$\frac{a - K^m}{a + K^m} \cdot \frac{b - K}{b + K} + \frac{a - K^m}{a + K^m} + \frac{b - K}{b + K} - \frac{ab - K^{m+1}}{ab + K^{m+1}} \ge 0.$$

Equivalently it suffices to show that

$$(ab + K^{m+1})(a - K^m)(b - K) + (ab + K^{m+1})(a - K^m)(b + K)$$
$$+ (b - K)(ab + K^{m+1})(a + K^m) - (ab - K^{m+1})(a + K^m)(b + K) \ge 0.$$

Since $(a + K^m)(b + K) = ab + K^{m+1} + aK^m + bK$, to establish our claim, we need to prove that

$$(ab + K^{m+1})(a - K^m)(b - K) + (ab + K^{m+1})(a - K^m)(b + K)$$

$$+ (b - K)(ab + K^{m+1})(a + K^m) - (ab - K^{m+1})(ab + K^{m+1})$$

$$- (ab - K^{m+1})(aK^m + bK) \ge 0.$$
(3.4)

Substituting the following:

$$(ab + K^{m+1})(a - K^m)(b - K) - (ab - K^{m+1})(ab + K^{m+1})$$
$$= -(ab + K^{m+1})(K(a - K^m) + K^m(b - K)),$$

$$(ab + K^{m+1})(a - K^m)(b + K) = b(ab + K^{m+1})(a - K^m) + K(ab + K^{m+1})(a - K^m),$$

and

$$(b-K)(ab+K^{m+1})(a+K^m) = a(b-K)(ab+K^{m+1}) + K^m(b-K)(ab+K^{m+1})$$

in (3.4), and simplifying, our claim reduces to

$$b(ab + K^{m+1})(a - K^m) + a(b - K)(ab + K^{m+1}) - (ab - K^{m+1})(aK^m + bK) \ge 0.$$

Since $ab + K^{m+1} - aK^m - bK = (a - K^m)(b - K) \ge 0$, we must have $ab + K^{m+1} \ge aK^m + bK$ and therefore it is sufficient to prove that

$$b(a - K^m) + a(b - K) - (ab - K^{m+1}) > 0.$$

But

$$b(a - K^m) + a(b - K) - (ab - K^{m+1}) = (a - K^m)(b - K) \ge 0,$$

and hence the proof is complete.

Lemma 3.3 For any $0 \le r \le 1$ and $R_k \ge K \ge 1$, $1 \le k \le n$, we have

$$\prod_{k=1}^{n} \frac{r + R_k}{1 + R_k} \ge \left(\frac{K + r}{K + 1}\right)^n + \frac{1}{K^{n-1}} \left[\frac{R_1 R_2 \cdots R_n - K^n}{R_1 R_2 \cdots R_n + 1}\right] \left(\frac{1 - r}{K + 1}\right)^n. \tag{3.5}$$

Proof We prove the result by induction on n. The identity

$$\frac{r+R_1}{1+R_1} = \left(\frac{K+r}{K+1}\right) + \left[\frac{R_1-K}{R_1+1}\right] \left(\frac{1-r}{K+1}\right),\tag{3.6}$$

justifies the validity of (3.5) for n=1. Let us assume that (3.5) is true for n=m. Then using the result for

m and with the help of (3.6), we will have

$$\begin{split} \prod_{k=1}^{m+1} \frac{r + R_k}{1 + R_k} &= \left(\prod_{k=1}^m \frac{r + R_k}{1 + R_k} \right) \left(\frac{r + R_{m+1}}{1 + R_{m+1}} \right) \\ &\geq \left[\left(\frac{K + r}{K + 1} \right)^m + \frac{1}{K^{m-1}} \left[\frac{R_1 R_2 \cdots R_m - K^m}{R_1 R_2 \cdots R_m + 1} \right] \left(\frac{1 - r}{K + 1} \right)^m \right] \\ &\times \left[\left(\frac{K + r}{K + 1} \right) + \left[\frac{R_{m+1} - K}{R_{m+1} + 1} \right] \left(\frac{1 - r}{K + 1} \right) \right] \\ &= \left(\frac{K + r}{K + 1} \right)^{m+1} + \frac{1}{K^{m-1}} \left[\frac{R_1 R_2 \cdots R_m - K^m}{R_1 R_2 \cdots R_m + 1} \right] \left[\frac{R_{m+1} - K}{R_{m+1} + 1} \right] \left(\frac{1 - r}{K + 1} \right)^{m+1} \\ &+ \left(\frac{K + r}{K + 1} \right)^m \left(\frac{1 - r}{K + 1} \right) \left[\frac{R_{m+1} - K}{R_{m+1} + 1} \right] \\ &+ \frac{1}{K^{m-1}} \left(\frac{1 - r}{K + 1} \right)^m \left(\frac{K + r}{K + 1} \right) \left[\frac{R_1 R_2 \cdots R_m - K^m}{R_1 R_2 \cdots R_m + 1} \right]. \end{split}$$

Therefore we will have

$$\prod_{k=1}^{m+1} \frac{r + R_k}{1 + R_k} \ge \left(\frac{K + r}{K + 1}\right)^{m+1} + \left(\frac{1 - r}{K + 1}\right)^{m+1} \\
\times \left[\frac{1}{K^{m-1}} \left[\frac{R_1 R_2 \cdots R_m - K^m}{R_1 R_2 \cdots R_m + 1}\right] \left[\frac{R_{m+1} - K}{R_{m+1} + 1}\right] \\
+ \frac{R_{m+1} - K}{R_{m+1} + 1} + \frac{1}{K^{m-1}} \frac{R_1 R_2 \cdots R_m - K^m}{R_1 R_2 \cdots R_m + 1}\right].$$

Applying Lemma 3.1 to the second term in the right hand side of the above inequality, we obtain

$$\prod_{k=1}^{m+1} \frac{r + R_k}{1 + R_k} \ge \left(\frac{K + r}{K + 1}\right)^{m+1} + \frac{1}{K^m} \left[\frac{R_1 R_2 \cdots R_{m+1} - K^{m+1}}{R_1 R_2 \cdots R_{m+1} + 1}\right] \left(\frac{1 - r}{K + 1}\right)^{m+1},$$

by which the method of induction is complete.

Applying again the principle of induction on n and proceeding similarly as in the proof of above Lemma 3.3, but using Lemma 3.2, instead of Lemma 3.1, we can obtain the following result.

Lemma 3.4 For any $0 \le r \le 1$ and $R_k \ge K$, $1 \le k \le n$, K > 0, we have

$$\prod_{k=1}^{n} \frac{r + R_k}{1 + R_k} \ge \left(\frac{K + r}{K + 1}\right)^n + \left[\frac{R_1 R_2 \cdots R_n - K^n}{R_1 R_2 \cdots R_n + K^n}\right] \left(\frac{\lambda}{K + 1}\right)^n,\tag{3.7}$$

where $\lambda = \min\{1 - r, K + r\}$.

4. Proofs of main results

Proof of Theorem 2.1 Let $z_k = R_k e^{i\varphi_k}$, $1 \le k \le n$, be the zeros of P(z). Observe that $R_k \ge K$, $K \ge 1$, $1 \le k \le n$, since $P(z) \ne 0$ in |z| < K, $K \ge 1$. Then for any $0 \le r \le 1$, and $0 \le \varphi \le 2\pi$, we have

$$\begin{split} \frac{|P(r\mathrm{e}^{\mathrm{i}\varphi})|}{|P(\mathrm{e}^{\mathrm{i}\varphi})|} &= \prod_{k=1}^{n} \frac{|r\mathrm{e}^{\mathrm{i}\varphi} - R_k \mathrm{e}^{\mathrm{i}\varphi_k}|}{|\mathrm{e}^{\mathrm{i}\varphi} - R_k \mathrm{e}^{\mathrm{i}\varphi_k}|} \\ &= \prod_{k=1}^{n} \frac{|r\mathrm{e}^{\mathrm{i}(\varphi - \varphi_k)} - R_k|}{|\mathrm{e}^{\mathrm{i}(\varphi - \varphi_k)} - R_k|} \\ &= \prod_{k=1}^{n} \left(\frac{r^2 + R_k^2 - 2rR_k \cos(\varphi - \varphi_k)}{1 + R_k^2 - 2rR_k \cos(\varphi - \varphi_k)} \right)^{1/2} \\ &\geq \prod_{k=1}^{n} \frac{r + R_k}{1 + R_k}. \end{split}$$

Therefore we have

$$|P(re^{i\varphi})| \ge \prod_{k=1}^{n} \frac{r + R_k}{1 + R_k} |P(e^{i\varphi})|.$$
 (4.1)

Now applying Lemma 3.3 to the right hand side of the inequality (4.1) and using the fact that

$$R_1 R_2 \cdots R_n = \frac{|a_0|}{|a_n|},$$

we get the required inequality.

Proof of Theorem 2.5 Since the polynomial P(z) has all its zeros in $|z| \geq K$, $K \leq 1$, we can express $P(z) = a_n \prod_{k=1}^n (z - R_k e^{i\alpha_k})$ where $R_k \geq K$, $1 \leq k \leq n$. Then it is a simple exercise to check the validity of

$$\frac{|P(re^{i\alpha})|}{|P(e^{i\alpha})|} = \prod_{k=1}^{n} \frac{|re^{i\alpha} - R_k e^{i\alpha_k}|}{|e^{i\alpha} - R_k e^{i\alpha_k}|} \ge \prod_{k=1}^{n} \frac{r + R_k}{1 + R_k},\tag{4.2}$$

whenever $r \leq K^2$ and $o \leq \alpha \leq 2\pi$.

Now applying Lemma 3.4 to the right hand side of the above inequality (4.2), we get the required inequality.

Proof of Theorem 2.7 By assumption, the polynomial P(z) has no zeros in |z| < 1. But then the polynomial P(Rz) has no zeros in |z| < 1/R, where $1/R \ge 1$. Observe that the polynomial P(Rz) satisfies the hypotheses of Theorem 2.1, and therefore using Theorem 2.1 for P(Rz) we have

$$\max_{|z|=r/R} |P(Rz)| \ge \left\{ \left(\frac{1/R + r/R}{1/R + 1} \right)^n + R^{n-1} \left[\frac{|a_0| - |a_n R^n|(1/R^n)}{|a_0| + |a_n R^n|} \right] \left(\frac{1 - r/R}{1/R + 1} \right)^n \right\} \max_{|z|=1} |P(Rz)|,$$

which is equivalent to (2.9).

KUMAR and MILOVANOVIĆ/Turk J Math

Acknowledgment

The work of the second author was supported in part by the Serbian Academy of Sciences and Arts, Belgrade (Φ -96).

References

- [1] Aziz A. Growth of polynomials whose zeros are within or outside a circle. Bulletin of the Australian Mathematical Society 1987; 35 (2): 247-256. doi: 10.1017/S0004972700013204
- [2] Bernstein SN. Leçons sur les propriétés extrémales et la meilleure approximation des fonctions analytiques d'une variable réelle. Paris, France: Gauthier-Villars, 1926.
- [3] Gardner RB, Govil NK, Milovanović GV. Extremal Problems and Inequalities of Markov-Bernstein Type for Algebraic Polynomial. London, UK: Academic Press/Elsevier, 2022.
- [4] Govil NK. On the maximum modulus of polynomials. Journal of Mathematical Analysis and Applications 1985; 112 (1): 253-258. doi: 10.1016/0022-247X(85)90289-6
- [5] Kumar P. A remark on a theorem of Rivlin. Comptes rendus de l'Académie bulgare des Sciences 2021; 74 (12): 1723-1728. doi: 10.7546/CRABS.2021.12.01
- [6] Milovanović GV, Mitrinović DS, Rassias ThM. Topics in Polynomials: Extremal Problems, Inequalities, Zeros. Singapore: World Scientific, 1994.
- [7] Pólya G, Szegő G. Aufgaben und Lehrsätze aus der Analysis. Berlin, Germany: Springer, 1925.
- [8] Rivlin TJ. On the maximum modulus of polynomials. American Mathematical Monthly 1960; 67 (3): 251-253. doi: 10.2307/2309686
- [9] Schaeffer AC. Inequalities of A. Markoff and S. Bernstein for polynomials and related functions. Bulletin of the American Mathematical Society 1941; 47 (8): 565-579.
- [10] Varga RS. A comparison of the successive overrelaxation method and semi-iterative methods using Chebyshev polynomials. Journal of the Society for Industrial and Applied Mathematics 1957; 5 (2): 39-46.